EAGRAROBREERT — 2 N— ABISH —F

202058A1H (£) 1[E4L1R3H

12R paEX)-A

18772

CE&

)

(5] EE

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[~&E%] 1% 7,600,000 ~ 27 :3,000,000H” ~ 337 :1,900,000H

4 7% 11,100,000 5 & :760,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
3 | HUAE 1:45.7 3-3-2-1 [37.8]99.1 | 2 510 | SREE ()
18| 21FN=U2Z 54.0 ! © | &) A#77—k
RGSLTURR Bia4%%55 AR EVRU—K—ZFLF
1) - S o4 | HERRK 1:46.4 7-8-4-4 | 38.2] 93.0 | 11 486 | SHESE (RR)
] 4| 7YY=~k #56.0 (4) 1o |EEEHILY
R:VLKYIYRIR BTLF T J—HT T — L
S e 4t 3 | C. Jbx—Jb 1:46.8 5-5-4-4 | 38.7| 89.7 | 1 558 | DREETEAL (353)
3|5|6|7 F¥TTILTR 54.0 2 172) e |EEBT
LNZ—ka2—X B:H-NVTya—L J=HrTp—L
. o4 | FRHER 1:47.0 9-9-8-6 |38.4| 87.7 | 7 468 | BFEM (EH)
4710/ 77 AT 57.0 (4 1/2) © | ) suviFe—45TLy KR
R:ATA IR BURFATI-FI BEX &Y K
43 | MLEs 1:471 10-9-10-7 | 38.2 | 86.8 | 6 508 | RESRA (i)
5/5/5|@®@3AXEFLIYTY 540 (7€) g | B EvILyET7—L
A:Temple City ##:Surround Sound Janet Quillen
- . 44 | BERRRA 1:47.1 2-2-2-2 [39.2| 87.4 | 3 490 | IRt (3E3R)
6(8(12 @L I X2 7> 57.0 ) o) | BUBEE
AL:Street Boss £}:Ever So Godolphin
44 | WESE 1:47.6 1-1-1-2 | 39.9| 83.7 | 12 | 484 |[/EE—B (EiH)
7 g|®70k=aw A54.0 @) g |ARER
R:A-—TJ X1 A4 B:HRXATUIT R HiE
IS 4 5 | BERLT 1:47.6 10-11-10-9 | 38.7 | 82.6 | 9 494 | REFE—BB (EiH)
3 2| ®ER/ TV KT $55.0 (7€) (o) |hEEE
LY LTAN—t BEZ 2 TFY REWS
. t 3 | AHREA 1:48.0 3-3-4-7 |39.8|80.2| 5 478 | EEFN (EiH)
9 7 IAZANRIL B [B] * 54.0 (2 1/2) -2) ) 5 - x—JL
R:7x/—*/) BEV2-TU7> At Bz
T 43 | RLASstE 1:48.1 12-12-12-12| 38.7 | 78.2 | 10 | 450 |KLRE (k)
1wol1l1 |7y Ty F3 A51.0 (1/2) © | B IwIr-L
R:Va—Hh7TF—/ BANLITFFy b ST —L
S g o3 | KOEH 1:48.2 5-5-8-9 |39.6| 78.4 | 4 488 | PARE (ER)
EH 3| TIhizx—2% 54.0 (3/4) (+0) | LEFIE
Lib—t>TI40 BUI-FrT71—% e e
NS . 4 3 | WA 1:48.8 7-5-7-9 | 40.4| 74.4 | 8 186 | BRI ()
12|79 | NI T AN 5.0 @ 172 (o) | EERER
R:T—KT7Ya—Ib B:N—RFAXFA b 75> Fiis
@ 71 L
) 49.8-38.0
NA>Z4 L |6.9-11.3-12.6-12.8-12.3-11.8-12.3-12.6-13.1
@ I —F—@EBIERL
13—7+— |8,12(7,11)(3,6) (4,9)10(2,5)-1
2o =7= 8,12(7,11) (3,6,9)4(10,5) 2-1
Fol=5r= 8(12,11) (7,4,6)9(3,10)-(2,5)-1
40—F— 11(8,12) (4,6)-10(7,5) (3,2,9)1
[ N3
B O 1 490H 714K 4-11 3,520 e E 4-8 7,060 JEHE 4-6-11 29,320/
8 B 1 270M 6-11 1,030M B = 4-11 11,960M @ 11-4-6 149,310
4 920/ 4-6 4,840M| | B H 11-4 16,810
6 210H

ABRICOVTHRTEEERROODE, THEB LS,




